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2 oooo

1. 0gogaoo

1.1. 00000. 000 0maximaO0O0O0O000000000000O0CCOOOOOO0OO00O00 matrix
ubooobOoboooobooboooogoo

(%i1) matrix([1,2,3],[4,5,6]1,[7,8,9]);
1 2 3

(hol) 4 5 6
7 8 9

(%i2) matrix([a,b,c,d],[e,f,g,h]l);

. a b ¢ d

(%02) (e Fg h)
O0 matrix 000000000000 O0OOOOOOOO”[“0 9Y“0000000 100000000
ooooooog

1.2. 000000000. O00matrix 0000000000 00D0000 maximaOOOOOOOO
uboboboooboboboooboobobobobobobooboooboobobobooobobana
OO0000O0O000DOO0o0oooO0o00DOo0O00oOoDOOmaxima0D0000D0OO0OO0OODOOOO
ubobO :0000000000000000

(%i3) A : matrix([1,2,3],[4,5,6],[7,8,9]1);
1 2 3

(%03) 4 5 6
7 8 9

(%i4) B : matrix([a,b,c,d],[e,f,g,h]);

. a b ¢ d

(%o4) ( e f g h

0000A, BOOOODOCOODOOOOOODOOOOOOUOOUODOOODODOOD AODBOOOOOODODOO
OO0 AOBOOOOOOOOOOOOOOOOOOODDDODODOOO

(%15) A;
1

(%05) 4
7

(%i6) B;

(%06)

co Ot N
O O W

~ o
Q o
S
~

1.3. 0000000000000 0 (U000 0O00). D0D0OD0O0U0O0D ADODDODOOOOOOUO
0000000000000 0O0OD0AOO0O Al0O000000O0

(%i7) A1 : A;
1 2 3
(%07) 4 5 6
7 8 9
(%i8) A1;
1 2 3
(%08) 4 5 6
7 8 9

oo0o0O00000ooOoO0O0O0O0AD A10D0DOO0O0O0O0O0O0OO0OO0OO0OO0OODOOOODODODODOD AOO
ooooopooo0 Al0oooo0ooOooooo0oO0ooooo0O0oboooooDAlIOoooooog
AOOOODODOODODDODOOOOO



maxima 0000000000 3

14. 000000000. 0O000D0O0OO0OO0OO0ODOOOODOODOODOO0ODOO0ODOO0ODOODOODOODODOn
goboobooboooooOdoooooO00obOOo0ooDoOo0booOObOoo0ooOoobOOoooOooooDo
0000000000000000000O0O0DAOQOOUOOOUDOOUODOOUODOODOOOOO C(oOoO A
O0000)000000maximaOO0O copymatrix 000 : 000000000000

(%19) C :copymatrix(A);

1 2 3
(%09) 4 5 6
7 8 9
(%i10) C;
1 2 3
(%010) 4 5 6
7 8 9

o0o0AOdO0O0OOOOO0OOD cOOOoOUOODOOoOUODAOQODOUOODOOOO CcOODOOO
gbboobooobodgboooboooogd

15. 000000. 000maximaODOOO00ODO0OO0O00DOOO0O00ODOOOOO0OOOODOOOODOO
Oo00ooooO0o0oooO00o0oD +00000000000000000000 A,B,A1,COOO
00000000 0000DOCO0o00O0A, BOODOOOOODOOOOODODODODOOOOOmaxima
OO0 kiloooooo

(%it1) kill(A, B, A1, C);
(%011) DONE

gbooobooboobooboobobboboobooo

(%i12) A : matrix([1,2],[3,4]1);
) 1 2

(%012) <3 4

(%i13) B : matrix([a,b],[c,d]);
. a b

(%013) (C d

(%i14) C : A + B;

, a+1 b+2

(%o14) <c—|—3 d+4>

O000O00AO0BOOO 2x2-0000000A+BOODOOOOOOOO CcOOOoOoooooOoQ
gbooobooooboobooooboboo

(%i15) A + B;

. a+1 b+2

ooooooobon
16. 000000. O0OO0DLOOobOOobOO0o0ooooooooooooooooooobobobbobobo

gboooobobooooooboboooboboooobooboobooobobobobonb . goobo
oboooobooooboooog

(%i16) A . B;

. 2c+a 2d+b

(%o16) <4c+3a 4d + 3b

(%i17) D : matrix([a,b,c]l,[d,e,f]);
017 a b ¢

© d e f



4 0ooo
(%i18) E : matrix([p,ql,[r,s],[t,ul);

(%018)

- 33
[V~

(%i19) F : D . E;
. ct+br+ap cu+bs+aq
(%019) < ft+er+dp fu+es+dg >

O0000000000000000 2x2-00 A)BOO ABOOOOOOOOOOOO2x3-00DO
3x2-00 EOJO0DOOO0ODOO DEDOOOOODOOOO FOOOOODOO
gooobooooboobooooooboboboooobooboobobbooooboboboobobo

(%120) D . A;
incompatible dimensions - cannot multiply
-- an error. Quitting. To debug this try DEBUGMODE(TRUE) ;

1.7.00000000. 000000000000 0ODO0O0O0O0ODO *OUO0O0O0ODODOODoOoOoOooUooo
00000000 (0000000000000 0Ub0000oO0OUooOO kill(ALL) 00O

(%i21) kill(ALL);
(%00) DONE

oooobooooboon

(%i1) A : matrix([a,b,c],[d,e,f]);
. a b ¢

(%ho1) (d . f)

(%i2) B : 3 *x A;

. 3¢ 3b 3¢
(%o2) <3d 3e 3f>

1.8. 00000. 0000 AODDODOOOO0OO0D0DADODOODDDODODODOOUOO0O0OmaximaOOOOO
oooooboooooboobooo " oboobboobooobooo

(%1i3) kill(ALL);
(%00) DONE
(%i1) A : matrix([2,3,4]1,[-1,0,3],[2,1,-2]1);
2 3 4
(%o1) -1 0 3
2 1 =2
(%i2) A~"3;
26 36 48
(%02) —-12 2 36
24 12 =22

00000 A200000000000000000000D00000000O000O0O0000000A0
oooo

(%i3) A . A . A;
26 36 48
(%03) -12 2 36
24 12 =22
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oobobooobooooboobooobooboooobooooboooooboooboooboboboobooobooboOooon
00000000o0o0o0O00oo0U000O000O0U000O00O000O0DU00OUO0OU (Doooooo
0)000000o00U0oOOoU0ooOoOooooo

1.9. 00000C. 00000000000 DOO000O0DO000O0DO0000000D000 0 maximadO
gobodobooO0o0oooobo0oooO00ooOooobOoO0oO00oDOOoobOO00ooooOooDOooDboOoo
O0000OmaximaOOOOO0O00D0OO0DOODOO transpose 000000

(hid) A;
2 3 4
(%o4) -1 0 3
2 1 -2
(%15) transpose(A);
2 -1 2
(%05) 30 1
4 3 =2

(%i6) C : matrix([a,b,c]l,[d,e,f]);
(*106) <a b c)

d e f
(%17) transpose(C);

a d
(hoT) b e

c f

1.10. OO00OO. 0O0OO00O0O00 AJODODOODODOOOOOO0ODOOO0DOOOO0OODOO0ODODOOOOO
OO0000000maximaO0O0O echelon OO0O0O00OO0O0D0O0OOCODOOCOOOOOO0OO0ODODODODOO
oboooooooooobooooooo

(%i8) kill(ALL);
(%00) DONE
(%i1) A : matrix([1,2,3],[4,5,61,[7,8,91);
1 2 3
(%01) 4 5 6
7 8 9
(%12) echelon(A);
1 2 3
(%02) 01 2

(%i3) B : matrix([1,2,3],[4,5,6],[7,8,0]1);

1 2
(%03) 4 5
7 8
(%i4) C : eche

1
(%04) 0

O000Omaxima 0 O0OOOO0000O00O0O0ODOOCOO0OO0ODOOOOODOOOODOOOOOOODOOO

1.11. 00000. 0000000 ADOODOOOO0OOOO0OO0O0 echelon(A) 0OOOO0OO0OOAOCOO
(rank) 0000000 0Omaxima 000000000000 rank 0000000000

(%i5) rank(A);
(%05) 2
(%i6) rank(B);



6 oooo
(%06) 3

Oo0o0O0O0O000 A,BOOOOOOOOOOO

1.12. 000. 00000 nO0000D0 ADOOO nO0O00OD0ADDOD A-'00000000maxima
000000000000 invert 0OOODOO

ChiT) inverﬁt (B);

|00
o
Reli

_16
(%oT) %‘j -5

[ V]
©|
=

©|
©|

9

O00o0ooooooo0o0ooooDoooOoO0oooDOob0 invert 0O0D0OO0OOOOODODOODOOOO
gooooooo

(%i8) invert(A);
Division by O
-- an error. Quitting. To debug this try DEBUGMODE(TRUE) ;

000000000000 rank 000000000 DOOO0O0OO0OODOOODOOOOOOOODOOO
oooooo

00000000000000000000000000000000000000000 A~"(-1)O
gooooO0ODoAOOODOOOOOOOUO

(%19) B~ (-1);
_16

©|oo
o
el

(%09) %i’ I

9

N
©|
=

1.13. 000. 000000000 AOODO00000000OmaximaO OO determinant 000000

(%i10) determinant(A);
(%010) 0

(%i11) determinant(B);
(%o11) 27

(%i12) determinant(B~"(-1));

(%012) 2%
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2.000000000O0

21. 000000000. 000000000000 DOO00O0O000D00000iI000000000A[i]
00000000000 maximaOOO row D000 0Orow(A,) 00000000

(%i13) kill(ALL);

(%00) DONE

(%i1) A : matrix([a,b,c],[d,e,f],[g,h,i]);
a b ¢

(%o1) d e f
g h 1

(%i2) A[1];

(%02) [a,b,c]

(hi3) A[21;

(%o3) [d,e, f]

(%i4) A[3];

(%hod) g, h,i]

(%i5) row(A,1);

(ho5) (a b c¢)

(%i6) row(A,2);

(ho6) (d e f)

(%i7) row(A,3);

(b7 (g h i)

200000 A0 row(A,)) 0000000000000000000000000000000000
000 A1]0000D0 [abe 000000a b,c000000000000000000000000
OOrow(A,1) 00000 (abe)0 1x3-0000000000

00000000000000000000000000ADO 20020000000000000
oooo

(%i8) A[2] : 2 *x A[2];
(%08) [2d,2e¢,2f]

(%19) A;
a b ¢
(%09) 2d 2e 2f
g h i

000 A0D20020000000000000000AO0000000O0D0O0O0O0O0D0AOODOOO
00000000000000000000000rw000000000000000000AO0OO
0000D0000row(Az2): (1/2) *row(A2) 00 000000000000000000000000O
0oooo

(%i10) row(A,2) : (1/2) * row(A,2);

Improper value assignment:

ROW (A4, 2) FALSEfalse

-- an error. Quitting. To debug this try DEBUGMODE(TRUE) ;

gbooooood

(hit1) A[2] : (1/2) = A[2];
(ho11l) [d,e, f]
(hi12) A;



8 oooo

(%012) ( )

oo0o0O0O0OooUbAOdO 100D 20030000000000O00000OOOOOOOODOOOO

Q Q.
S0

b
e
h
O

(%i13) A[1] : A[1] + 3 * A[2];
(%013) [3d+a,3e+b,3f + |
(%i14) A;

3d+a 3e+b 3f+c
(%ho14) d e f

g h i
oooooooo

(%i15) A[1] : A[1] - 3 * A[2];

(%015) [a,b,]

(%i16) A;
000000000AO0OO0100000000000O0O0ODO00DODOO0O001I0000000DO0O0O000
obooobO0bO0 BOOOoOOoOooooooooo

(%o016)

Q Q.
S 0

b

e

h
O

(%i17) B : A[1];
(%ho17) [a,b,c]
(%i18) A[1]1 : A[31;
(%o18) g, h,1]
(hi19) A[3]1 : B;
(%019) [a,b,c]
(%120) A;

g h i
(%020) d e f
a b c

22.000000000.00000000000000000000000000 AQO0i0QoOoOO
0 0 O O transpose(transpose(A)[i]) OO0 0O col(Afi]) DO OOOODOO

(%i21) kill(ALL);

(%00) DONE
(%i1) A : matrix([r,s,t], [u,v,w], [x,y,2]);

r s 1
(%o1) U vow

Ty z
(%12) transpose(transpose(4)[1]);
(%02) U

(%13) col(A,1);

(%03) U



maxima 0000000000 9
000000000000 0000D0O transpose(transpose(A)[1]) O col(A,1) D000 3x1-00000

obOob0o0ooo0oooooOob0Oo0OobobO0onb0O0nd transpeose DOOOOOOOOOOOOOOOO
gbobooboboooboobooooboboooboobooooboooon

23.00000000. 0000000 ADD (5,)-0000000000A[{[jj000A[, 00000
0oo

(%i4) kill(ALL);

(%00) DONE

(%i1) A : matrix([1,2,3,4]1,[5,6,7,8]1,[9,10,11,12]);
1 2 3 4

(%01) 5 6 7 8
9 10 11 12

(%i2) A[2]1[3]1;

(%02) 7

(%i3) A[2,3];

(%03) 7

O00000ADOO (2,3)000000000000000ADQOO (23)00000000000 xO0OO
0000000000000 00?00000A[2[3]:x0000000 OKOOO

(%i4) A[2,3]1 : x;

(%od) x
(%1i5) A;
1 2 3 4
(%h05) 5 6 x 8
9 10 11 12

O000AOO (3,2)-000 yOOOOUODODOOOA[32):yODODOOODDOOOOO

(%i6) A[3,2] : y;

(%o86) y
(%i7) A;
1 2 3 4
(%oT) 5 6 x 8
9 y 11 12

gbooboobooobogboaoboaboad

24, 00000000000 0. maximaOOOOOOODOOODOOODOOODOODOODOODOODOOO
oooooo

x4+ 2y + 32 =4,

ox + 6y + 7z =38,

9z 4+ 10y + 11z =0

U maximaOOOOOOOeql OO0OO0D00ODOOODOOO

(%i8) kill(ALL);

(%00) DONE

(%1i1) eql : [x+2*y+3*z=4, Bxx+6*y+7*z=8, 9*x+10*y+11%z=12];
(hol) [32z+42y+x=4,72+6y+ 52 =8,11z + 10y 4+ 9z = 12]

O0000000000000000000000000eql 0000 (x,y2) 0000000 AODOD
OO00000000D0C0000 maximaOOOOOcoefmatrix 0000000000000 ODOOOO



10 oooo
ad

(%12) =xx : [x,y,z];

(h2) [z,y.2]
(%13) A : coefmatrix(eql, xx);
1 2 3
(%03) 5 6 7
9 10 11
000 xx0O [xyz O00O00OO0OO

(%13) A : coefmatrix([x+2*y+3*z=4, L*x+6xy+7*z=8, O*x+10xy+11*z=12], [x,y,x]);

00000000000000000000000000000000000000000000000
0000000000000000000000000 Ax=bOO0O0000 (Ab)00000000
00000000000 maximaO0000 augeoefmatrix 0000 0000000000000000
0000000 (Ab)00000(A|-b)0000000000000000000O

(%i4) Ab : augcoefmatrix(eql, xx);
1 2 3 -4

(%ho4) 5 6 7 =8
9 10 11 -—12

gbhoobooboobooboobuoobooboobooboobobbobbobboboboon
0000 rank(A) 0000000000 rank(Ab) 0000000000000 O00OmaximaOOO0O
oboocobOobooooboboooooboooooboooon

(%i5) echelon(Ab);

1 2 3 —4
(%05) 01 2 -3
0 00 O
(%i6) rank(A);
(%06) 2
(%i7) rank(Ab);
(%o7) 2

0000000000000000000Orank(A) =rank(Ab) =20000000000000 eql
0000000 n=300 rank(A)=2000000000000 3-2=1000000000000
gbooobobooobooboon

25.0000000000. OD00DbOO00DOO0OOO0O0DOOOOO0O0O00bOO00O00bO0O0n
0000000000000 0DoO0O00DO0O000OOmaximaO0O0O000O0OO0O0OOOODOOOO
OO0000 eql D00 OmaximaOO0O solve 0O0OO0OODOOODO

(%18) solve(eql, xx);
Dependent equations eliminated: (3)
(%h08) [[zr=%R1 -2,y =3 —2%R1, 2 = %R1]]

0000%R10000000000000000D0O0000O000O00O0O0O0O0O0O0O0O0O00 solve
obobooboobooooooooooboooooOooboooOoobOobOobobobOobobobobobon
gooo

(%19) kill(ALL);
(%00) DONE



maxima 0000000000

(%i1) eq2 : [x + 2%y = 3, 4*x + bxy = 6, 7*x + 8y = 0];
(hol) [2y+ax =3,5y +4x = 6,8y + Tx = 0]

(%i2) =xx : [x,y];

(ho2) [z,y]

(%13) solve(eq2, xx);

Inconsistent equations: (1)

-- an error. Quitting. To debug this try DEBUGMODE(TRUE) ;

goo

(%i4) A : coefmatrix(eq2, xx);

1 2
(%04) 4 5
7 8
(%i5) Ab : augcoefmatrix(eq2, xx);
1 2 -3
(%05) 4 5 -6
7 8 0
(%i6) echelon(Ab);
12 0
(%06) 0 1 —-14
0 0 1
(%i7) rank(A);
(%07) 2
(%i8) rank(Ab);
(%08) 3

O 00Orank(A)#Arank(Ab) 00 000000000000 eq2000000000
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3. 00000b0obooonog

maximaO0OOOOO00O0O0OOOO0O0OOOOOO0O0O0ODOOOO00OO0OOOODODOOOO0O0OOOD
obooboboooooobooobobooobooobooobooooobooobooobooboOooooo
oobooboooobooobooboobooboooooooooboooooooboooobooobooo
goooooooooooooogoobooooooooooobooooboooooobobooobo,obooboOoo
OO000oOOo0o00oOoo0O0oDOo0o0ooOoo00ooOo0o00DOo0 00 0OmaximaO00OD0OOOO
OoooooooDooOOO0o000oooo0o0ooooooDDoOobooD maximaOOOOOOOO O
gboooboooobobooooobooooboooooboon
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